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. 8 A tnnel diode is
(A) High resistivity p-n junction diode
(B) A slow switching device
(C) An amplifying device
(D) A very heavily doped p-n junction diode

2 Which is NOT correct for oscillators.
(A) Signals may be Sine wave
(B) Signals may be Square wave
(C) Signals may be Half Sine wave
(D) Signals broadcast by radio transmitters are example of oscillator
signals

e 3 The output of a logic gate is ‘1" when all its nputs are '0’. Then the gate is
either
{A} A NAND or an EX-OR Gate ({B) A NOR or an EX-NOR Gate
(C) AnOR or an EX-NOR Gage (D) AnAND oran EX-OR Gate

4. Lime mortar is generally made with

(C) Hydraulic ime (D) White lime
& mmdwﬁ)dMawlswﬁanw
(notations are conventional) |
A E=1000fy ® € =5000,Fe
. ©Ees0lm @ E=1000 iy

paints, inseed ol s used as
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' !, in terms of pulk modulus (K) and modulus of rigidity (G), Pmom & ratio
' can be expressed as
3IK-4G i 3K+QG
W sk-46 ® ek-4c
3K-2G - 3K+2G
(© 6K+2G 6K=2G
9. The stress — strain curve fot an ideally plastic material is (conventional
symbols)
A) B) o~
= :
A
{C) o (8]}
10. wﬁmmnmmwcodmpm ]omgam

dmnbdm?
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13

14

1§.

16.

17.

in » Cantilever beam carrying gravity load, mﬂ"m"""ﬂ
Banding moment is provided _
(A) above the Neutral Axis (B) as vertical stirups

(C) as a helical reinforcement (D) below the Neutral Axis

in fluid flow, the line of constant piezometric head passes through fwo
points which have the same

(A) Elevation (B) Pressure

(C) Velocity (D) Velocity potential

A 30m metric chain is found to be 0.1m too short throughout the
measurement |f the distance measured is recarded as 300m, then the
actual distance measured will be

(A) 300.1m (B) 3010m
(C) 299 m (D) 310m

Which one of the following methods of levelling eliminates the error due o
curvature and refraction 7

(A) Fly leveling

(B) Levelling by equailizing the distances of backsight and foresight

(C) Check leveiling

(D) Precse leveliing

Mmdmmm‘mmmm
distribution for a saturated soil mass of depth Z‘um-:urww
of height "Z,'above its top level

(fsm = sal density of soil, Y = unit wi. of water. ' = WM
of soif) v
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18.

21.

mmom (B) suobow
L | © pH meter

Alternati Current can be measuregl by , S
(A) Mo:igng iron repulsion type voltmeter :
(B) Permanent Magnet type Ammeter

(C) Electronic Voltmeter

(D) Induction Ammeter

Wheatstone bridge is used to measure
(A) Low values of current and high values of current

(B) High values of current
(C) Low values of voltage
(D) Resistance values

Meggar is an instrument to measure
(A) Qofacol (8) mmtﬁ'-eoir
(C) very low resistance (m mﬂm
A multimeter consists of

fcl wmwm
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28. Biodagradabie pollutants are
{A) quickly degraded by natural means
(B) can not be degraded
(C)} can be degraded by burning only
(D) disposed in flowing water only

27. Which is NOT a cause of water pollution.
(A) Bacteria
(B) Inorganic chemicals
(C) Qil spills from industry
(D) high decibels of automobiles

28. In a computer, a compiler is

(A) a program that places programs into memory and prepares them for
execution

{B) a program that automate the translation of assembly language nto
machine language

(C) a program that accepts a program written in & high level language
and produces an object program

o) ammm“mpmbmﬂammpmgramﬁﬂmve
machine language :

28. mmmdammuamﬂmmmum
between the user and

(A) hardware ? {B) peripheral

{C) memory {0) Screen

30. mammmmummwmuu
demm? ZaSaL.
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The software in computer that transfers the object program fremn

34
sacondary memory to the main memory is called
(B) Loader

{A) Assembler :
(C) Linker (D) Task buiider

35. In a computer, the system identifies a file by its
(A) Name (B) Absolute Path
(C) File owner (D) Inode number

36. In a computer. Virtual Memory is
(A) an extremely large main memory
(B) an extremely large secondary memaory
(C) aniilusion of an extremely large memaory
(D) atype of memory used in super computers

37. Inacomputer, Disk scheduling involves deciding
(A) which disk should be accessed next
(B} the order in which disk access requests must be serviced
(C) the physical location where files should be accessed in the disk

{D) None of these
30 F-orw Drawings. match the Col X and Col. Y

Col X (Type) Col. Y (Use)
P. Large sized letters 1. Sub-Tites
R Small sized letters - 3 Main Titles
(A) P—ﬁ. Q-1, R-2 (8) P-2. Q-1. R-3
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a1

mmeNQTmammmdemm
(A} Circular Features are Indicated by the centre finen

(B) A visible line has precedence over a hidden line
(C) The faces perpendicular to the direction of viewing are seen as edge

(D) In Isometric projection, an isometric scale is used

Select the correct option.

The isometric projection of a circle is

(A) Ellipse (B) Parabala
(D) Circle

(C) Hyperbola

Light Year is the unit of
(A) time

(C) speed of light

In the graph of displacement versus time shown below, which s correct.

T

Displacement

(B) distance
(D) intensity of light

Time—»

{A) the body is at rest
(B} the body has some initial speed

(C) the body moves with conatand speed
(D) mmmmmm

AmﬁMnnmhﬂm nummmmm
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a—‘l

81,

A rmagnifying  glass comprises a simpile
(A) Convex lens {B) Convex wm
c (D) Concave mirror

(C) Concave lens
rty is generally NOT shown by metal ?

Which of the following prope \
(A) Electrical conduction (B) Sonorous in nature
(C) duliness (D) ductility

The state in which molecular attractions are very strong I8
(A) Solid (B) Liquid

(C) Gas (P) Vapour

Which of the foliowing acids is present in sour milk 7

{(A) Glycolic Acid (B) Lactic Acid

(C) Citrus Acid (D) Tartaric Acid

The atomic number of an element is determined by
(A) the number of electrons in one atom

(B} the number of neutrons in one atom

(C) the vaiency of the element

(D} the number of protons in one atom

Emwwhmmmmmm
because _

{A) Mmaﬂmm

{B) mmmmm

(C) mmmmmmmm.

http://ajourneywithtime.weebly.com/



http://ajourneywithtime.weebly.com/ | 2015

TS0001314

7. Nephrons are connected with
(A) Respiratory System (B) Nervous System
(C) Circulatory System (D) Excretory System

58. Sight of delicious food usually makes mouth watery. itis a
(A) Hormonal response (B) Neural response
(C) Optic response (D) Offactory response

59. Jaundice is a disease of
(A) Kidney (B) Pancreas
(C) Liver (D) Duodenum

60. Deficiency of Vitamin C causes
(A) nckets (B) beriben
(C) scurvy (D) night blindness

61. TheRadcﬁeCarMmuppontedb
{A) Sommm-dMnmu
(B) Givaefhdlcmnuw&l '
{C) WNWMImMPMn
(D) Enqmthhﬁohh&nﬂw

62 mmwdwuhmd'mmmofmmm

Congress was 7
(A) Lord Chelisford (8) Lord Dalhousie

63 Whowas the & ivocalo a the famous tials of trea INA Saldiers?

!

'Lé"g “«

TCer &

R0
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e
5

B~

68

66.
67.

70.

 providing investment

\Mﬁd! part of the indian Constitution reflects the M
: prea?mme (B) Fundamental Rights
Provisions
e principles (D) Emergency
(C) Directive
force ?
' | Ordinance remain in
How long canra Presidentia Pl mo?;hs
i months
:2; Till lhf?—‘resédent revokes it (D) Six
i
t effective farming method for returning minerals to the soll 1S
The most & =
(B) Terraci
ey (D) Furrowing

(C) Crop rotation

Winter rains in North-Western india are caused by
(A) Westemn Disturbances

(B} South West Monsoon

(C) South Easterly Disturbances

(D) Easterly Disturbances

Kaziranga National Park is in .
(A) Uttar Pradesh {8) Tamil Nadu
(C) Assam (D) Keraia

(A) Pmsmmmmm ,
{8} smmmamcmmmw

(C) Domesbcamt-'aﬂcnw

D) Caopomimmmt}mmm Dopumnh

Which of the following is an apex financing W for the institutions
and production credit for promo nu mvm

r ",ntaiuﬂ!ﬁﬁ«lnrmmm?
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3. UBER Cup is related to
(A) International Badminton (Men)
(B) International Volleyball (Men)
(C) International Volleyball (Women)
(D) International Badminton (Women)

74.  Which Country of Africa which was hi
ghly affected by di
been declared Ebola-free by WHO ? y y disease Ebala has

{A) Sierre Leone (B) Liberia
(C) Nigeria (D) Guinea
75.  India's First Bank exclusively for Women is
(A) Mahila Kalyan Bank (B) Bhartiya Mahila Bank
{C) Bharti Bank (D) SiDBI
76.  First Sportsperson to be conferred with Award ‘Bhart Ratna®
(A) Sachin Tendulkar {B) Dhyan Chand
{C) Balbir Singh (Q) Vijay Amritraj
77.  Next Asian Games in 2018 shall be heid in
(A) Seout {B) Bangkok
‘ {C) Km ({8} Jm
78.  Who was recently sworn in as President of Afghanistan ?
{A) Abdullah Abduliah (B) Hamid Karzai
15 mam : -3 S Eaiban
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s @ 9
’ Vihat s common armongst Mahesh Bhupathi, Ivan Lendi. Roget Federes
- (A} Trmim all Arjun Award wim:;sm
@) Thay afl international Tennis y
2(3) They are all Saocial Activists Y
(D) They are all Asian Games M

rs was announced recently as Joint Noble Peace

83. Which of the following pai
-winnet.
:I)mekaw Satyarthi and Malala
(B) Amartya Sen and Benazir
(C) Morkel and Hosni Mubarak
(D) Anwar Sadat and Begin

' Eather of Hindi Theatre of India ?
3 2/:1;0 :a: “::n?he Chandra {B) Dada S;hib Pha“:e
(C} Bhartendu Harishchandra (D) Prithvi Raj Kapoo

85. Match Col A (Dance type) and Col B (State).
Col.

: 1 Gujarat
o Game 3 us
R Tamasha 3 Assam
S Nautanki 4 Maharashira
{(A) ‘ .3 01 R4, 52

oy P-t, Q-4 R-2 S3

e m 10 om and 12 m %0 cm ? f,
i Jaon

_-_ @ %em
B ked 1o find answer by dividing a number by 3. But.

‘N
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91.

92.

M-‘ﬁﬂ then Z = ?

(A) 4 (X? Y2 .
) (B) Ji:‘-‘f?

C) 4(X-Y)?

(C) 4(X-Y) O s

Soive V0.000064 = »

(A) 04 (B) 004

(C) 0.004 (D) 00004

The average age of 5 members of a committee is the same as it was
3 years ago, because an old member has been replaced by a new
member The difference between the ages of old and new member is

(A) 12 years (B) 4 years

(C) 8 years (D) 15 years

The product of two positive numbers s 2500 If one is four times the other,

then the sum of two numbers is
(A) 25 {B) 125 (Cy 225 (D) 250

A 18 2 years older than B who is hwice as oid as C_ If the fotal of the ages
of A, B, C be 27 years, then how old s 8 ?

(A) 9 years {8) B years

{(C) 10 years (D} 11 years

A bucket contains 2 litres maore water when it is filed 80% in comparison
g .
mnuum;%.mnmmatmma?

(A) 10 litres : (B) 15 litres
- ”;’ o (D) 20 s
A dealer professin mﬂmmummmmwmﬁ
 1Kg. Hbmmu-mb , ;,_fi-“

(z.y ms B 1035 tc) mn .

s > Qé??\y'ha K.
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99

1”0

101.

102.

103.

.,m. |

esting ¥27000, TB1000 ard Y2005

a business by inv
. mt:ldme end of one year, Y’'s share of total profit was 238000

t was the total profit ? ‘
mmnoaooo (B) 116000
(C) ¥80000 (D) ¥92000

they take
es 50% more time than Q. If together
B iy t:et:::oﬂt how much time shall Qtaketodoit?

18 days to complete
(A) 3?; days (B) 35 days
(C) 40 days (D) 45 days
Two pipes can fill a tank in 20 minutes and 30 minutes respectively If both
the pipes are opened simultaneously, then the fank will be filled in
(A) 10 minutes (B) 12 minutes
(C) 15 minutes (D) 25 minutes
' 40 km
Ammwmdtmmﬁmmtmmmng
of the journey in 5 hours. His average speed for the whole journey is
4 -
(A) 6-1-1- en/hr (By T knvhr
(C) 75 kmv/hr (D) 8 knvihr

Am&»ﬂuwdmmmammmm The length

ofthetrainis | |
(A) 500m AT Ay T
(C) 900m . . (D) 1000m

Wle!ﬁOOW4matﬁMwanthmm
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m) mmdaMMthummmmmuasm

its volume is
(A} 3234 cm® {B) 1078 em
(Cy 2156 cm® (Dy 2496 cm?®
108. |f an angle is its own complementary angle, then its measure is
(Ay 30° (B) 45°
(C) 860° (D) 90

109. A kite is flying at a height of 75 m from the level ground, attached to a
string inclined at 60° to the horizontal. The length of the string is

(A) soJ"m (B) 50v3m
50 50
(C) Jf (D) ;/—‘5"'"
110. For given number series, select the option which shall replace ? to
1,4,10,22,46,7
(A} 64 {(8) 86
{C) o4 Oy 122
111. Given below is a series of aiphabets. Choose the option to replace 2 to
PMT, OOS, NQR, MSQ, 7
Ay LUP : {8 LvP .
(C) LVR {0} WP

112 mmmmmdummmwmmmb
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in which
d then go to the left.

.qht. then right again an
117. You go North, turn right,

. ?
dtrecﬁo:ﬂ :re you Now ——
:2’) ';m (D) West

Directions: (Question No. 118 & Question No. 119): Choose the option
Diagram for given set of words.

A @O (®)

8,
(c> ©) O

118. Machine, Lathe Mathemalics

118. Mercury, Mars, Planets

-

120. mmwmmummmmm
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A E—

121. A closed thermodynamic system i one in which
{A} There is no energy or mass transfer across the boundary
(B) There is no mass transfer. but energy transfer exists
{C) There is no energy transfer, but mass transfer exists

(D) Both energy apd mass transfer take place across the boundary, but
mass transfer is controlled by valves |

122. Pressure reaches a value of absolute zero
(A) at a temperature of -273 K
(B) under vacuum condition
(C) at the earth’s centre
&y (D) when molecular momentum of system becomes zero

123. Zeroth Law of Thermodynamics states that

(A) Two thermodynamic systems are always in thermal equilibrium with
each other

= (B) if two systems are in thermal equilibrnum, then the third system wail

also be in thermal equilibrium

(C) Two systems not in thermal equilbnum with a third system will also
not be in thermal equiboium with sach other

(D) When two systems are in thermal equilibium with a third system they

are in thermal equilibrium with esch other

Heat is mainly transferred by conduction. convection and radiation i
(A) Insulated pipes carrying hot water

(B) Refrigerator freezer coil
(C) Boiler fumaces . :

(D) Condensation of steam in a condenser

125, Tne discharge of Hydrocarbons from pelrol automobile exbaust s
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129.

130.

131.

132.

133. ¢

ompressive (B) Tomlh
o (s:.hear‘ (D) Hydrostatic stress
() |
Heat transfer in liquids and gases is assentialty due 10
(A) Conduction
{B) Convection
(C) Radiation

(D) Wammwm

Stroke of an 1.C. engine equais
(A} half the crank radius
{C) mmm m

mmmamwn
A) M. @ Sica
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138

137.

138.

138.

140.

141.

142.

,r,.(ci fmm

Buibs in street lighting are all connected in o
(A} parallel (B) senes
(C) series parallel (B) end of end

The electric field strength of a charge
(A) increases with distance

(B) decreases with cube of distance
(C) decreases with distance

(D) decreases with square of distance

Which of the following Is the unit of magnetic flux
(A) tesia (B) coulomb
(C) weber (D) ampere-turn

The hysteres:s loss in a given magnetic matenal may be decreased by

jA) fammating it

(B) increasmng flux density through it
(C) increasing frequency of reversal of magnetisation
(D} decreasing maximum flux density established through it

Vacuum 8 considered as

(A) Non-magnetic material (8) Dramagnetic matenal
(C) Paramagnelic matenal {D) Fesomagnetic material
Bakelite 15 a/an

(A) insulator (8) semiconductor

{C) high resistance conductor (D) Low resiastance conductor

mm&umhmmmgwnhmmwm
(Axgwm LT T TR
(B) M:gmﬂebn__n

lﬂd Qddy uurmntlmm
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144, Figue ghown

145.

146.

147.

below represents @

; TOR
EMITTER COLLECTO

BASE

(8) Zener Diode

(A) A power diode (D) PNP Transistor
(C) NPN Transistor

An antenna (s a device which
(A) Converta electric Powor' o
B) Converls a sound wave {0 @

EC) Converts a sound wave of one wavelength

(D) Converts an AC to DC

Wt-dloﬂt\eManwid-ad%gmsW?
(A) Smem

(B) Sguare wave
(C) Gradual turing of a potentiomter

(D) smmmmm.dwa

into radio waves or vice versa

gnetic signal
to other

An inverter converts |
(~) a,mpuudb-ﬁmhmpmo!mghm@my

B) aDC oAl 3 7 ’
20) ammd'mwbmAprﬂmghw

(D) anAC 1 DC
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